TD—Hl

( SV:60,000/h, = bS5 EROTS2:300ppm, Air balance )
100
90 /

80 |

T hSEROTIS> LR

—Catalyst : D3PT*S26C

70 |
60 |

FMEEX [%]
S

40 |
30 |
20 |
RRE DTPAIZRAT. MR, BRBEECLDT— S EZT BHERELTOT—5TT.
10 |
il e o
0

180 200 220 240 260 280 300 320 340 360
AEARE [C]

BFIRFR mE L5

Y& wAE:| {EZER &R ’gf TIREE 1000ppm@25°CAir
(B%) (B%) (B%)
FShoeEROTIS> II—3J)L C4HgO C4HgO 66°C 2.0% 81°C

DIVEE - SV - EEEEREZTS FO—ILIT DT ECKDREMERDFEERZ S S(C LITIRFTETE
FI. WBMEOHXEZFCDOVWTEFRRYU1—23> [HIHRFMEAE] OR—EZELLEEUN,
FULSFEBHFTEEEESZE.



